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Christmas Subtraction

Solve the following word problems.

A charity had 8,000 Christmas gifts for children.
They distributed 3,500 gifts. How many gifts are
left with the charity?

The Christmas tree farm had 9,876 trees. They sold
3,456 trees this Christmas. How many frees are left
on the farm?

A toy factory produced 10,000 toys for Christmas.
After distributing some toys, they have 5,678 left.
How many toys did they distribute?

A Christmas charity had 8,765 dollars. They spent
2,345 dollars on gifts for children. How much
money is left in the charity fund?

A city decorated 10,000 lamp posts for Christmas.
After Christmas, they removed decorations from
9,150 lamp posts. How many lamp posts are still
decorated?

A bakery made 9,876 gingerbread cookies for
Christmas. They sold 4,567 cookies on Christmas
Eve. How many cookies are left?

A store had 10,000 Christmas ornaments. They sold
2,345 ornaments. How many ornaments are left?

A Christmas carol group visited 8,765 houses. After

some days, they visited 2,345 more houses. How
many houses did they visit before the additional

‘isi'rs?
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